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This document contains the interim list of open issues raised by individuals during the May S2 meeting. Not all issues in this list were reviewed during the first drafting session.  A further session will be held to finalise this list.

The list of issues below relate to the open issues on the service control architecture for the IM Subsystem.  Several proposals exist around the hybrid solution.  The second column, indicates if the issue is general or related to a specific contribution.  Also, a priority indication has been given on the issues that need to be resolved first with 1 being the highest priority.

All the following issues shall be studied considering implications of MO and MT calls and the relation between MT and MO calls (e.g. involving the same UE).

Issue
Tdoc
Priority

interaction of services such as e.g. call hold.  For example, if a call is being served in the visited network is put on hold and the next MO call requires supported in the home network, do we have two call states being maintained in different networks? If so, what are the implications on service interaction?

Interaction between several CSCFs handling a UE (e.g. consider multiparty, 3-way calls, etc.).
All


where is the user registered, home or visited? Does this mean dual holding of subscriber profile in two CSCFs? If yes, what type of information is required in the two CSCFs (visited CSCFs in particular)? How are these information handled (downloaded and used)? What is the lifetime of these information?
All?


Number/name (e.g. URL) analysis, what information have to be know by the proxy/home CSCF and how information are moved between networks

Two levels of filtering: 1) to determine if call will be handled in visited or home network and 2) screening (ODB and subscriber DB), when the visited or home network does number/name/address analysis first. For example, how does mobile VPN work? Basically, will the mix of services mean that all calls go home, hence wasted standardisation time?
All


What could be the service protocols for multimedia service between the CSCF and Application Server? What protocols are used in the visited network, in the home network and between visited and home networks (if different)? Should these protocols be standardised (at all and by 3GPP) and in what cases? 



What extensions to SIP might be needed for use of SIP between CSCFs in the different models?



Need to consider the non-roaming case.  What does the architecture look like?
All


Where are the actual decision points?
All


What interface is used between the CSCF and the HSS?



Is there a service specific CSCF (CSCF with different capabilities, e.g. simple speech versus multimedia) or a subscriber specific CSCF or both (if specialised CSCFs, user profile might have to be scattered over different CSCFs)? 

How is the serving CSCF assigned (whether in home or visited network)? Is there a generic proxy used for registration and that distributes registrations appropriately to generic or specialised CSCFs? 
All


Designation criteria:

a) When; at registration or call initiation? 

1) How; network, subscription or service based (or a combination of)?



Should home network decide where to have CC or should vCSCF decide when not to execute CC?

2) How is resource allocation done, especially when serving CSCF is in the home network?

3) Access independence of the CSCF, are there any special issues to consider together with the hybrid model?

4) A call is put on hold and then you invoke a new call that requires CC from another CSCF. How will this be handled?

5) Details on the Mobile Terminated case

6) The interface between the vCSCF and an application server in the home network needs to be standardized. What to use if we don’t use CAMEL? How fast can this be standardised?

7) Does the interface between the serving CSCF and an application server in the home network needs to be standardized

8) Using a vCSCF, a common understanding of services/triggers is needed
- What is the set of standardised services required in order to make use of the hybrid model (if any).  

9) Charging; which entities are responsible for creating CDR information?

10) Security issues

11) What is the relation to AAA (vAAA & hAAA)?
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